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No BE WEOE | EERFE |BNREE
1 (g/cm?) (%) (mm) (Bl/mm)
1 2.397 100.0 1.26 4850
2 2.400 100.1 1.43 4200
3 2.394 99.8 2.28 4500
19 2.397 100.0 1.66 4500
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SBEAR SH6E 2 B 13 8
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HEL-BEN K= IS YE DT RR i
SBAMODELE BHENET 27 UNEAY
BAamoREEE . 2.398 (9./cm?)
NS DIESE RB7PRXTF7IVNT BY
FRI7INE : 4.9 (%)
e e R HEFH C,=1.0
SABREA LHEE 686 N BME  0.63 MPa
HEEE 60 C ETEM 2520 [
et Q00500 2.F1—UR BEREK G=1.0
R D No. 1 2 3 13
DRAEDERE g/cm®| 2.397| 2.400| 2.394] 2.397
QB DEHEIDEE (%) 100.0] 100.1] 99.8] 100.0
® dso 1.50] 1.78] 2.60
78 (mm) @  das 165 1.88] 2.70
® deo 1.78]  2.03] 2.84
OEBNE 6-@ 013 0.15] 0.4|® 0.4
ORRER(DS) | Ds=15x42:CxCo/ | 4o50|  4200| 4500
(B, mm) ©
QOHIEILRTER (DS) | DS =15%42%C%C./ 9 4500
(B, mm) @
OEHEE DEDTS (©-®)> 122500| 90000 0
2t fR= S=(z@/n-1)"? @ 326
DEERE (%) 0,/© 7.2
EnEHE (%) do 1.26] 1.43] 2.28] 1.66
B — T BHHROTR ESR | BER | BER
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